ANSWER KEY

PREDICTING PRODUCTS Name ____ .
©OF CHEMICAL REACTIONS

Predict ihe preducts of the reaciions balow, Then, wilte 1ha balkanced equation ond
classify the reaction. .

1. magnesium bromide + chiorine aniomic ,Slnﬂ e
”\9 sz‘l"a?_"’ mQCIZ 1R, replacement

2. gluminum + Tron () oxlde c&ﬂ'ionib Si ‘e'
ALt Fey 05 FetPlyDs  reprcoment

3. slivernirate + zin chiorlds double rf’Pl acement
286N03+Znl2 ZAgU +Zn( N0z

4. hydrogen peroxide {catayzed by mangonese dioxide)

24, 02™8 21,040, OZLTPOHOR

5. 2nc + hydochiorlc acid coh onic Si le ,
laccmerT
ZntYZHC = 20U 2+H ?@P

& salfulc acid + sedum hydrovide ( oulghe. re‘g\ acm‘%ﬁ ?A'h‘"}

H 2304 +2Na0H =7 Na2S04 +2H20

7, sodium + hydrogen ﬂmllfb
INoct H, 2Nkt

8. geelic acld + coppet cotionle

CRaCool + G =7 Mo reachon sinle +
(or ?—\(4.1—}307,) reptasomeri

STOICHIOMETRY: Name
MOLE-MOLE PROBLEMS

1M+ 3H, —» 2NH,
How rmany motes of hydrogen are nesded to complately react with fwo moles

o moles

2. MCIO, — KC} + 30,
How many moles of oxygen are produced by the decomposiion of six maoles

of patasslum chiorate? n
4 moles

3. In + 2HCl ~» InCl, + H,
How many moles of hydrogen are preduced from the reaction of three moles
of ZInc with an excess of hydrachlorc ocld?

3 moles

4, CH, + 50, -» 3CO, + HO
How many moles of oxygen ara necassary to react completely with four metes of

propane (CHy?
70 mdes

8 KPO, + AI(NO,), — 3KNO, + APO,
How many males of potassium nitrate are preduced when hwo moles of patassium
phosphate react with two moles of oiurminum nitrala?

[y moiesS

—

2 -
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STOICHIOMETRY: Nome STOICKIOMETRY: Name B
VOLUME-VOLUME PROBLEMS

LW, ¢ 3H, - 2NH,

what volume of hydrogen Is nacessary fo reach with fve liters of nitrogen to prociuce
armmonla? (Assama constant femperaitura and prossura.)

{5 liters
2, What volume of ammonla Is produced in the reaction In Problem 17

10 {ifers

3. CH, + 50, — 3CO, + #0
If 20 liters of oxygen are consumed In ihe obove reaction. how many liters of carbon

dloxide are produced?
IR liters

4, HO —- H,+ O
If 30 mL of hydrogen ore produced In the above reoclion. how many miililiers of

oxygen arg produced? I 5

5 2CO + O, — 2CO,

How many liters of carbon diexide are produced It 75 liters of ‘carbon monoxide
ore buined In oxygen? How mony fiters of oxygen are necessory?

75L, 315 L
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MASS-VASS PROBLEMS

1. 2KCIQ, ~= 2KCI + 30,
How many grams of potassium chloride are produced if 25 g of petassium chlosate

decomposa? l5
2, Ny + 3H, — ZNH,

How many grams of hydrogen e necassary to react completely with 500gof
ritrogen In the above reaction?

10.7 g

3. How many grams of ammenia are produced in the reoction In Problemn 27

(0.79

4, 2AgNO, + BaCl, -+ 2AgCI + Ba(NOy),

How many gramms of siver chlorde aie produced from 50 g of siver nitrate reacting
with an excess of barum chioride?

L/.Zg

5, How much barlum chiaride Is necessary 1o react with the siiver nlirate In Problem 47

3.14
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